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*/

void Statement() {
if (token == ID) {
eat(ID); eat(’=’); ‘ (2)
} else if (token == IF) {
eat(IF); eat(’ (’); Expr(); eat(’)’); Statement(); eat(ELSE); Statement();
} else if (token == WHILE) {

; eat(?57);

eat (WHILE); eat(’ (’); Expr(); eat(’)’); 3 ;
} else if (token == ’{’) {
eat (" {"); | (4) ; eatC});
} else {
printf ("0 0000000000O%¥n"); exit(0); /x 0 00DO0OO0O =/
}
}
void StatementList() {
if (token == ID || token == IF || token == WHILE || token == ’{’) {
Statement(); StatementList();
} else if (token == ’}’) {
/x 00000 =/
} else {
printf ("0 0000000000O%¥n"); exit(0); /x 0 00DO0OO0O =/
}

void Expr() {
if (token == NUM) {
eat (NUM) ;
} else {
printf ("0 0000000000%¥n"); exit(0); /x 00000000 =/

}

/* mainO 0O */

int main() {
token = yylex(); /* UOUODODOOOODOO =%/
Statement () ;
printf("OO0COCOCO0O '¥n");
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#include <stdio.h>
#include <stdlib.h> /*x exit() O */

#include <ctype.h> /* isdigit() O =*/
/00000000000 =/

#define ID 256 /* 0000 id *x/
#define IF 257 /* 0000 if *x/
#define ELSE 258 /0000 else *x/
#define WHILE 259 /* 0000 while x/
#define NUM 260 /* O000 num */

/x 0000000 %/
int token;

int yylex() { /x 0000000000 =/
int c;
char buf[256];

do {
c = getchar();
} while (c == 7 || c == "¥t’ || ¢c == ’¥n’);

if (isalpha(c)) {
char* ptr = buf;
ungetc(c, stdin);
while (1) {
c=getchar();
if (!isalpha(c) && !isdigit(c)) break;
*ptr++ = c;

}
*ptr = ’¥07;
ungetc(c, stdin);

if (strcmp(buf, "if")==0) {
return IF;

} else if (strcmp(buf, "else")==0) {
return ELSE;

} else if (strcmp(buf, "while")==0) {
return WHILE;

} else {
return ID;

}
} else if (isdigit (c)) {
double poi;
ungetc(c, stdin); scanf("}1f", &poi);
return NUM;
} else {
/ 000 0000000000000 0000000aosx/
return c; /x 2C, ), 200 x/

}

void eat(int t) { /¥ tokenl D000 000000000 tokenO OO %/
if (token == t) {
/¥ 00000000000 0000000000 =/
token = yylex();
return;
} else {
printf ("0 000O0O0O00OOOO");
3 exit (0); /00000000 =/
}

/* 0000000000 %/
void Statement(void);

void StatementList(void);
void Expr(void);
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